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(1) ZEhtRE (v) VTHOEFICELY v = 10 %
(2)BlAs8EE (m)
_ 1-SL _ 2
mi = - 9.V = 30.0 N/mf
100
YoT m = 30.0 Nmf
(3)KkEA FEW/C) m = -12.06 + 24.86 X C/W
W/C = 24.86 =~ (30.0 + 12.06) X 100 = 59.0 %
W/C = 59.0 %
(4) BALKE (W) VTHOFERICEY W = 156 ke/m
(5)HALE A FE(C) C =W +~ (W/C) X 100 = 156 = 59.0 X 100 = 264 kg/m
Cv= C + B = 264 +~ 3.04 = 87 £ /m
(6)z=5 & (A) A = 4.5 % X 1000 = 45 £ /m
(7)AEM=E(s/a) VITHOFEREICEY s/a = 46.4 %
(8) BN MEME(S) Sv = (1000 — WH+Cv+A)) X s/a = 712 X 46.4 % = 330 2/m
S = Sv X FHEE = 330 X 2.62 = 865 kg/m
S1 =S X 50.0 % = 433 ke/m
S2 =S X 50.0 % = 432 ke/m
(9) A E#H & (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 618 = 382 2 /mi
G = Gv X FHEE = 382 X 2.75 = 1051 kg/m
Gl =G X 50.0 % = 526 ke/m
G2 = G X 50.0 % = 525  ke/m
(10) HAZ IR0 & (Ad) Ad = 2.21 kg/m
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